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YOUR SUCCESS PARTHNER

Paper : Account And Business Statistics

Ques # :1

In Govt. company the share of Central Govt in paid up capital must be at least :-
1) 51%
2) 49%
3) 50%
4) 75%

frelt off TR Fowred) Y eed Tolt 7 Fog AIHR T AT ~yTee giar =R v |
1) 51%
2) 49%
3) 50%
4) 75%

Ques # :2

Which of the following is foreign company ?

1) A company Incorporated outside India and also has a place of business outside India.
2) A company Incorporated in India and has place of business in India.

3) A company Incorporated outside India and has a place of business in India.

4) A company Incorporated in India and has a place of business outside India.

et 7 & sl el Fueit g |

D) 91 o S8R TR Td $TR & T8 &) SATIR it aTell sheil
2) 3R & TATATIIT TaH $TRT # SITIR el arell hded!

3) 9TRA & STeY TATATOIT T TR & SATIR YA aTell hedeil

4) 9 & FATATIT TaH $R & S8R ITIR el dloll el

Ques # :3

The Excess price received over par value of share should be credited to
1) Reserve Capital a/c

2) Capital Reserve a/c

3) Securities Premium a/c

4) Call in advance a/c

I F FHAET W HaRerd Jred TRr Y FA7 fmar Srar g -
D) derer e @mey

2) Soft o Ere

3) fastfa hfdes @ &

4) 31farer FfeT iR @ A

Ques # 4

X Ltd forfeited 2000 shares of Rs 10 each called up Rs 8 per share due to Non payment of call money of RS 3
per share, share forfeiture a/c will be credited by -

1) 10,000/-
2) 16,000/-
3) 6,000/-

4) 20,000/



T for. o 10 T gret 2000 3727 TSt 9T 8 FIAT YT 37T AT IrAT AT | 3 AT U 3720 AT TR 1

STITCATET oTE1 81ot & FHIVT, SToct TR | 37T §I0T W Y i3 fwam Sram -
1) 10,000/-

2) 16,000/-

3) 6,000/-

4) 20,000/-

Ques # :5

While granting approval to any scheme of capital Reduction, Court may direct to company to add following
words to its name for such period as it thinks fit.

1) And reduced

2) Unlimited and Reduced
3) Liquidated

4) Limited and Reduced

AT GaRT a1 1 Gofl HN A Felipfar & woyr fawar forma 1 A fra frar smawar |
& FAT ¥ fav st i a8 3R aogt

D) 3tk e foma

2) AT aur & fHar

3) gHT R

4) AT Tur = far

Ques # :6

For capital Reduction under Internal Reconstruction approval is required from
1) Share holders

2) Court

3) Articles of Association

4) All of these

AR Io1: fATor & siaeta §oit wetd it whpfar e i areh &
D sperenfar @

2) SrTer T o

3) ur§e s=afiaH

4) gerr Tl

Ques # 7

Which of the following should be deducted from the called up share capital to find out paid up capital.
1) Calls in advance Amount

2) Share forfeities Amount

3) Calls in Arrears Amount

4) Discount on Issue of Shares Amount.

ST Soft 7T et 35 Fove et aeht ot A @ her o Ry A A B
1) 313 Afer Uiy

2) 3797 gYOT A

3) Hfar 1 FeraT TR

4) 3791 foveTaeT o @rgT iRy



Ques # :8

Maximum Amount that can be collected as premium as percentage of face value.
1) Unlimited

2) 80%

3) 50%

4) 10%

3T 7T F IMUR W A RFaashifags F fr afdera 7 st Frael garr oft 51 e

D) effaa
2) 80%
3) 50%
4) 10%

Ques # :9

The Securities Premium amount may be used by company for___
1) Write off any Loss on sales of Fixed Assets.

2) Write off expenses, discount on the Issue of Debenture

3) Payment of Dividend

4) Write of any loss of Revenue Nature

FFTeit garT afasifer NfAs i aflr 1 39Aher e g wawary |
1) erré FFatey Y ATy O gleY ATl gTfet Y AT B ¥
2) FoTaEt & fo¥eTHeT OX a2 | T T @ 3l F 8

3) STHTRT AT X &)

4) 3TIAT T i T Bifel ohl AT et &

Ques # :10

A company can not issue redeemable preference shares for a period more than_
1) 5 Years

2) 10 Years

3) 15 Years

4) 20 Years

TS FFeAT GART M7 qETAFR 3ret #1 foetiars ¥ 3fOe srafer & fore &t frar s
dFdT

DEEE-L

2) 10ay

3 1598

4 209y

Ques # :11

Which of the following can not be used for the purpose of creation of capital redemption Reserve account -
1) Credit balance of Profit & Loss a/c

2) General Reserve a/c

3) Unclaimed Dividend a/c

4) All of these

fovaer 3 & RreTepT 39T it AersT WO WTA FY T F T AT S Wt -
D) et - rfer @t a7 6P A

2) AT TIT @Il




3) JETaT TSI WTaT
) s A Tl

Ques # :12

Which of the following account can be used for transfer of capital redemption Reserve Account ?
1) General Reserve Account

2) Profit prior to Incorporation

3) Share forfeited Account

4) Securities Premium Account

forer 7 & e @rar §olt AT WO WraT S & fT 39T F o ST wFHr 8 ?
D) are=a T @ran

2) FATAT 8 I T e

3) 37er §OT @I

4) gfesfar hfdea @rar

Ques # :13

The Present Value of the future contribution of employees is related with :-
1) Human Resource Accounting

2) Inflation Accounting

3) Social Accounting

4) Responsibility Accounting

FHATRAT & T AT F TTATT Hed FT TG4 ¢
D) arera damersT d@iehe &

2) Fa1 TR AT &

3) FrATfae @i &

4) FcaeIRIca A& &

Ques # :14

Which of the following statement is true.

1) Debenture holder is owner of a company

2) A Debenture holder can get his money back only on Liquidation of the Company.

3) A Debenture Issued at discount can be redeemed at Premium.

4) A Debenture holder will receive Interest from company only if company makes Profit.

crokk ook ok ok

1) =oras e oett 1 Earelt ¥ |

2) aqell & HATIS 9T &) OIS € &Y 3T arad fHerer |

3) 9% qx AT o1 uF 1 2N NfATH ) AT S gehar Y|

%) Froel & AT Y ety 3 & oo URe Y ATt T AT faHaT S |

Ques # :15

Value Added statement is prepared from
1) Profit and Loss Statement

2) Balance Sheet

3) Cash Flow Statement

4) Fund Flow Statement



Hed THieT faavor o fFad dur R ST ¢ -
D) amer grfey et g &

OAGER:)

3) Qs varg faor T &

1) FIY yarg fFaor g7 &

Ques # :16

Cost of control means

1) Goodwill

2) Capital Reserve

3) Goodwill or Capital Reserve
4) None of these

"fAror Y AT HTHT | -
D enfa

3) wanfa a1 geheTd T
 geri S

Ques # :17

Which of the following is false ?

1) A company can Issue Redeemable Debenture

2) A company can buy its own debenture.

3) A company can buy its own share

4) A company can Issue Debenture with voting Right.

icro bk Eank i okin ek

D) srrsty et ooy e s gadl &

2) ¥ YT HOTTT GE TFhal &

3) shaaelt 319eY 3797 97 @l Fehdl &

4) FETAT ATTRISR aTelT F0T 97 AT T Fohal &

Ques # :18

According to Table F of Schedule I of Company Act the maximum rate of interest on Calls in Arrear can be
1) 5% PA.

2) 6% PA.

3) 10% P.A.

4) 15% PA.

FFet AT AT 3T 1y AIfAFT TF F IHTHR THAT AN R AT Y HTAFAH
o4 QE:Cikd

D) 50 gfaas

2) 6% gfaas

3) 10% gfaas

4 159% gfaas

Ques # :19



When Debentures are Issued as collateral Securities against any loan then holder of such Debenture is entitiled
to Interest.

1) On amount of Loan

2) At Amount of Debenture

3) Both (On amount of Loan) and (At Amount of Debenture)
4) None of these

S FOTYAT I T & daa FAURES festfar & w7 # feifae frar sirar § &t oRe &1 sarer
af?r fAaei |

1) ot & far ox

2) oT 9 & URr o

3) =T &Y TUT o7 IF T AR W/

4) goTor q IS A&

Ques # :20

How many companies are involved in Internal Reconstruction :-
1) One

2) Two

3) Four

4) Unlimited

AR go: fwtor & Rraeh Frafaar nfaa e @
D) va

2) &

3) 4

4 srafaa

Ques # :21

Methods of Accounting for Amalgamation of companies are/is

1) The Pooling of Interest Methods

2) The Purchase Method

3) Both (The Pooling of Interest Methods) and (The Purchase Method)
4) None of these

FIfAET & TRIHIT A Sr@iche Y f_Afr
D) feat &r vehrentor fafer

2) sy fafer

3) it T wehIeRoT T h Aty At
4) gort 3 8 3fr et

Ques # :22

When two or more than two companies Liquidate to form a new company, it is called
1) Amalgamation of Companies

2) Absorption of Companies

3) Internal Reconstruction of company

4) Purchase of Business.

ST &Y 37T &Y ¥ 3HF FUNA) FT T T2 FFIA Tt F AT FATIGT ST e 3T Fea & |
1) sraferat &1 wehreoT



2) gufarat & GfaegeT
3) drafevait 1 TR G T
4) IR FT HT

Ques # :23

The Adjustment Entry is passed to eliminate the inter company owing is
1) Debit Amalgamation Adjustment and credit Debtors a/c

2) Debit Sundry Debtors a/c credit sundry creditors a/c

3) Debit sundry creditors a/c, credit sundry Debtors a/c

4) Debit sundry debtors account, credit statutory Reserve a/c

3ol SHAER I SeIRT FI HATCH X & TfafSe 1 T |
1) uhrentor GATISTeT @rar 2fee 9T SASR @idT #ise
2) fafaer eoteR @rar sfde ot [afaer degr @rar shise
3) fafaer TR @rar 3fde auT fafaer SgR @iar shise
) fafaer &ereR @rar 3fee aur denfes o @iar »ise

Ques # :24

The buy-back of equity shares in any financial year cannot exceed _of its total paid-up equity capital in
that financial year.

1) 15%
2)20%
3)25%
4) None of these

FHAT 3 by ATt @3 b AT H Al a F s gHmar G & ¥ srferew At et

dFhdl-
1) 15%
2) 20%
3) 25%

Y g A 1S A

Ques # :25

Accounting Standard 25 relates to

1) Interim financial Reporting
2) Intangible Assets

3) Valuation of Goodwill

4) Valuation of Inventory

AT AT - 25 FFafAT &
D s1feae facd widdea
2) 3reeg Hafea

3) Tanfar &1 FiwsT

4) Topety T Holehe]

Ques # :26

Accounting standard - 4 relates to
1) Lease
2) Accounting of fixed Assets



3) Valuation of shares
4) Contingencies and Events occuring after the balance sheet date.

G ATAH 4 GFafeud &

Daga

2) TUrl Gt & SEieheT &

3) 372t 3 FHeaTRT A

4) gfgeer gur fg 1 T & geard gier arel geard

Ques # :27

The prime function of accounting is to

1) Record economic data

2) provide the informational basis for action
3) Classify and record business transaction.
4) Attain non-economic goals.

AT FT VAT FA G :-

1) 3nfeie 31iere &1 3rfForasT

2) 1 3 foIT AT 3TTSE T

3) cggarfie caagRT T geffeor ud iffaasT
4) 3% 3nfdier wret Fronfea

Ques # :28

In the final accounts of a joint stock company, the item 'Deferred Tax' apprears on the
1) Statement of Profit and Loss

2) Profit and Loss Appropriation Statement

3) Cash Flow Statement

4) None of these

HYFd HHH FF901 & 3w Tmal & vufra F: qarn Jrarg -
D) ars7 9 gifey Raxor o7

2) &9 T gifer fadsier Ravor ua

3) Qeh3 gaTg faavoT O

4) 3o | IS TET

Ques # :29

Conditions to be fulfilled for the appointment of a managing or whole time director or a manager without the
approval of the central Government have been prescribed by the Indian Companies Act in its

1) Schedule V, Part 1
2) Schedule VI, Part I
3) Schedule VIII, Part I
4) Schedule X1V

Yawto, quishTelle T AT Yaers 1 fAgfard g TR Y FqAfA & 81 7 A ST arelt ardf
1 qfet T 3edw AR Feae srftfare i fawr s J aftta 8 -

D) stepeah v, smar 1

2) 31T VI, 1T 1

3) 31T VIIL H1ET 1

4) 31T X1V



Ques # :30

Accounting Standard 2 is related to
1) Cash flow Statement
2) Depreciation Accounting

3) Valuation of Inventories
4) Accounting for Fixed Assets.

G ATAS 02 TFETAT§ :-

D) Qs varg feRor 9

2) FoT g Giehe]

3) Tgfard o1 e

4) Tt gEafaat & faw SrwieeT

Ques # :31

AS - 14 is related to

1) Accounting for Amalgamation
2) Accounting for Investments
3) Accounting for Govt. Grants
4) Borrowing costs

W AT 14 GFaOT &

1) udhrentor & faw or@ieheT

2) fafaraer & forv @iessT

3) TR Jregeret & foT oraiehet
4) IR Y T

Ques # :32

AS - 12 is related to

1) Employee benefits

2) Accounting for Govt. Grants.
3) Borrowing Cost

4) None of these

AW ATH 12 FF AT &

D) srafrenfat & et

2) FERY 31e7ETe & forT eraidhet
3) YR T AT

Y TR A S TG

Ques # :33

Meaning of Compound Entry is :-
1) Different Transactions of different dates are entered as a single entry
2) Different Transactions of same date are entered as a single entry

3) Different Transactions of different dates are entered as a single entry and Different Transactions of same date are
entered as a single entry

4) None of these

AT ufase Frard ¢ .-



D) e wfafSe & &9 & e caaert g i ARt &1 @i

2) uer gyfAfee & ¥ & [t cuagRt 9 ve & A & gra=er & @i

3) ueh gfafee & & # e caagRt @ Rffes ARt &1 oraiee a v wfafe & &9 & e
cagRI g Ueh &1 faAfd & GFaeyr H oldiehs]

Y goTd A IS AE

Ques # :34

Green/Environmental Balance sheet shows
1) Environmental Assets

2) Environmental Liabilities

3) Environmental Capital

4) All of these

AN/ gaTeror RgTgerian g -
D) qotaver grafeaat

2) qfferor Erfica

3) qTaRoT geft

4) gorer & ey

Ques # :35

The National Environmental Protection Act was passed in India in which year.

1) 1974
2) 1981
3) 1986
4) 1995

rr@wwﬁawgwmaﬁﬁawm#ﬁma&ﬁmﬂagm|
1) 1974
2) 1981
3) 1986
4) 1995

Ques # :36

The balance of Capital Reduction a/c is generally transferred to
1) General Reserve Account

2) Capital Reserve Account

3) Profit & Loss Statement

4) Security Premium Account

it Feldl @et FT AY AT FeAad [T oIl &
D) ararea @ @ren

2) gl F9 @

3) ameTerfer faRoT 9=

4) gfeeifar g @rar

Ques # :37

Which of the following statement is true ?
1) Post acquisition Profit of subsidiary company is always capital profit.
2) Every holding company is not required to prepare consolidated balance sheet and Profit & Loss a/c under



company Act
3) Holding company means the company which holds the entire share of another company.

4) A company is subsidiary company of a holding company when the latter company controls the composition of
BOD of former company.

ICro kR g o o

1) wgraes odstY &1 TATFT & TN T TH AT GITd 19 Bl &

2) Tt AfRfATs & 3TER Teds GAURY FFOT T b T T Tehahd dre-gifel @rar
TITelT ST eI & |

3) vrad e T AR T FEael & § T are ga@d Frae & @l e gy |

4)W¥|§ﬂ1frm?ﬁa's’6’l?ﬁa’rm?ﬁasmqn HFTaT o H>dTeled A W AT IWAT ¢ |

Ques # :38

Balance of Debenture sinking Fund A/C is transferred to
1) General Reserve

2) Capital Reserve

3) Dividend Equalisation Reserve

4) None of these

HOT9T MY AT &1 AV graraRa AT ATar g :-
D) greeg g

2) qafrerd o

3) TSI THTARIOT T

Y T A S A

Ques # :39

The time interval between date of preparing balance sheet of holding company and subsidiary company
1) Upto 1 year

2) Not more than 6 Months

3) More than 6 months

4) More than 1 year

AT FFUA TUT HETIH FFIA AR FAZT T & WA F 3 & TeharT §
D v a§ae

2) 6 ATE W 31TeR oY

3) ¢ ATE A 1S

1)t a9 § 3w

Ques # :40

When the amount of Investment in subsidiary company is more than Nominal Value of share capital acquired
by holding company difference is

1) Goodwill

2) Capital Reserve
3) Capital Income
4) Revenue Profit

9 AU FFAT GaRT T Fe9all H 6 are fafayer Fr afdr 399 grea sran & g qeat
& o gt af Irfers iy Fgard @

D ifa

2) qafrerd e



3) qaftere 3
4) 3TaT e

Ques # 41

The Basic concept related to Balance Sheet are

1) Cost Concept (Purchase Price)

2) Business Entity Concept

3) Accounting Period Concept

4) Both Cost Concept (Purchase Price) and Business Entity Concept

% @ gl A JauRon §
D) eqgarr arera HFTRI TR (3 7o)
2) gqary 3fedca gFefod 3aUrRoT

3) @ FIeT GFEETAT TR
4)Wmﬁamm(ww)amwmmﬁamaﬁﬁ
Ques # :42

The Basic concept related to profit & loss account
1) Realization Concept

2) Matching Concept

3) Cost Concept

4) Both Realization Concept and Matching Concept

oIS gTfey W { FFaTee HeT HTUROME -

D) aqel @eeifta sauron

2) gA FFTUd HTUROT

3) STeTd HEe I 3ratrRoT

%) Gl TSI HTUROT FAUT SIGFAAT Toaord JTUROT et

Ques # :43

Accounting does not record non-finacial transactions because of
1) Entity Concept

2) Accrual Concept

3) Cost Concept

4) Money Measurement Concept

IR AT sgagRY 1 @ 7AE I FTHFROTE
1) sfeqea geaesi sraumon

2) 39TSTeT TGEROT

3) STeT eI 3raeRoT

4) FeT AT FEaH raHRoT

Ques # :44

Capital is shown under Liabilities because of the
1) Conservative concept

2) Accrual Concept

3) Entity Concept

4) All of these



it Y aTfdea a7 oy feEma Sirar § e o ¢ -
D) sfeardr sraemon

2) 3qToiel FFaE AR

3) 3Tedca FFawE auronT

4) gorer & ey

Ques # :45

Which of the follwing is not a deferred revenue Expenditure.
1) Preliminary expenses

2) Pre-operative expenses

3) Heavy advertising expenses to introduce a New product

4) Legal expenses for Breach of Contract

A g sl A RT e Ed a8 ¢ |

1) grfesres @<f

2) gg afare ooy

3) T 3cUTE & YA & FHI & WY a9 @<
Y sregaer drgey & el @

Ques # :46

Cash Profit is

1) Gross Profit - Operational Expenses

2) Net Profit - (Non Trading Profits + Depreciation and Provisions)
3) Gross Profits - Non trading Profits + Depreciatio & Provisions
4) Net Profits + Depreciation and Provisions.

e ATH W& &

1) Hepor omer - aR=ITereT 0

2) 31 T8 - (AR TR AT + FT AT AT
3) gehet 9T - I SATATRER TS + BT AT AaTed
4) oG TS + GIH T JHToTet

Ques # :47

The Amount of capital which can be called up only at the time of widing up of the company is called
1) Authorized capital

2) Issued capital

3) Called up capital

4) Reserve capital

it Y 7§ T Y Faer FFIAT F TATIT T & A ST Fehell § Fgeell o
D st oo

2) foretfira it

3) wiafy arehr ot

4) wfera g

Ques # :48



Minority Interest Consists of

1) Face value of shares held by outsiders
2) Proportionate share of capital Profit
3) Proportionate share of Revenue Profit
4) All of these

oY HEIF fod 1 REaTEIaT @

) Sreer carfbert & 3ieit 1 3ifhe Ao
2) et ot 3 3neTanfare T

3) 3T e 3 3reTaiere feear

1) s A sl

Ques # :49

The Creditors of H Ltd include Rs. 6000 for the purchases from S Ltd. The Adjustment Entry made during the
proportion of consolidated Balance Sheet will be

1) Reduce Debtor by 6000.

2) Reduce Creditor by 6000.

3) Increase Debtors by 6000

4) Both Reduce Debtor by 6000 and Reduce Creditor by 6000

H {3, & Ae1erY 7 6000 T2 S . iy Tlig 7 anfrer § | vhigra Rrst aoima worr fovet womisrer
g ST |

1) &=eRT &7 6000 & Ter™T

2) JeAERT &Y 6000 ¥ TETT

3) &ERT T 6000 T FErAT

4) EACRT T 6000 T TESTAT TAT FAGRT FT 6000 T TETAT GleAT

Ques # :50

The existing 1000 shares of RS 100 each are altered to 10,000 shares of 10 each. This is known as
1) Consolidation

2) Sub division

3) Coversion into stock

4) Surrender

AT 100 I AT 1000 3720T FY 10 F Tk 10,000 3720 7 gRafdq 5 T 3 FeTIETE
D) gdepet

2) 3ufHTSIet

3) ek 7 aRadeT

4) gHqoT

Ques # :51

What is the effect of Increase in fixed cost in Break Even Point Analysis
1) Reduce Profit Volume Ratio

2) Increase in Break even Point

3) Increase Margin of Safety

4) Reduces the Contribution

oS fag feawor & syt g A gy Frrarwoma @
D) arer-aATaT 3teyarer 3 e
2)



TA-[a=e I'Elo-gﬁaja
3) BrTea gRam W 7 afy
4) 37ereTeT H FAY

Ques # :52

The Break-even Point in units is calculated by
1) Fixed cost/Profit Volume Ratio

2) Fixed Cost/ Contribution per Unit

3) Variable Cost/ Contribution per Unit

4) Sales/ Contribution per Unit

TATITSE fwg $réal # fareher STTar @
1) Taré ameray amey-Am 3fe1ard

2) Tt ST/ JHeTETe Ui ShTS

3) gRadereler oeTa/ 3ieETeT Ui Shie
4) faora/ 3iRIETe Ui SRS

Ques # :53

The basic difference between Marginal costing and absorption costing is the treatment of
1) Direct Material

2) Variable Cost

3) Fixed Cost

4) Sales Cost

AT AT AWHeT AT HTAIOT AT AW Thel & TGN Hecld T HeT3{T HROT ¢
D) gerer areah

2) aRacereier amere

3) TUR ST

) fasra o

Ques # :54

Why cash Budget is prepared ?

1) It helps in cash Management

2) It helps in preparing Balace Sheet
3) It is legally compulsory

4) To calculate Profit & Loss

VFHE orC FIT I1T AT &

D) Qs waitr 3 wgrrar &9

2) gt S=TeY F HETIA &

3) I denfores €9 3GTF &
4) a1 A &g

Ques # :55

Activity based costing is method of
1) Costing

2) Allocation

3) Analysis



4) All of these

R 3mrenfya g R
D) simera fefor

2) 3rdes

3) fgeeror

1) s & Feh

Ques # :56

In activity based costing an activity which generate costis a
1) Cost Sheet

2) Cost driver

3) Cost Tools

4) Cost Method

e e aeTa @R A JY 3T drerd F1 AT FTAT #
D) smera g3

2) ST ATeleh

3) qrerd I

4) et fafer

Ques # :57

Cost drives for Inspection are
1) Number of Machine hours
2) Number of Inspectors

3) Number of Inspections

4) Number of Methods

farfraTor & T ARTT TTEE AT R
D) #refiet gy i g

2) o YaTent 1 FEEar

3) fordretor & weam

4 rafergt hr gear

Ques # :58

Ram Ltd used 4538 Kg of material at a standard cost Rs. 2.50 per Kg. The material usages variance was 280
(favourable). The Standard usage of Material for the period is

1) 4700 Kg
2) 4650 Kg
3) 4600 Kg
4) 4588 Kg

A for. o 4538 Kg AU T 3TN foram fadhr 9T v 2.50 9far foralY 41 |mavelt 3aaier fa=avor 280
(31T eT) AT WA Y TATT AT AT HA

1) 4700 framm

2) 4650fRarm

3) 4600 feparr

4) 4588 forarm



Ques # :59

During a period 17500 labour hours were worked at a standard cost of Rs. 6.50 per hour. If labour efficiency
variance is 7800 (favourable). The standard Labour hours are

1) 20,000 hours
2) 18700 hours
3) 19200 hours
4) 18500 hours

rafer & aRrer 17500 43 € F AT IraT forweh 9ATT & 6.50 . TFY €T, 4197 Hrd Frarerar fawor
7800 (37T eT) &Y A THTT 5137 € FAT F

1) 20,000 g2

2) 18700 T=e

3) 19200 T

4) 18500 T

Ques # :60

The main object of cost accounting is
1) To minimise the waste

2) Help in Inventory Valuation

3) To control and to reduce the cost

4) Help in fixation of price

T @il T 7ET 3827 §

DR CETEro)

2) They FedicheT & TETTdT

3) SeTe fAZ=vT & Srerd 3 et ST
4) Fea feiRoT # e e

Ques # :61

Conversion cost is equal to -

1) Material cost and Direct Wages

2) Material cost and Indirect Wages
3) Direct wages and factory overhead
4) Material cost and factory overhead
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Ques # :62

If cost of 1000 units is Rs. 1000 and 1500 units is Rs. 1500, then Fixed cost is
1) 2000

2) 1000

3) 500

4) Zero

I 1000 EFHIEAT FY AT 1000 F. TAT 1500 SHISAT Y AT 1500 F. &Y A TYTS ST 219N



1) 2000
2) 1000
3) 500
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Ques # :63

The most suitable cost system where the Product is different by type of Material and work performance
1) Job Costing

2) Operating Costing

3) Process Costing

4) None of these
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Ques # :64

A Budget that gives a summary of all the functional Budgets and projected profit & Loss A/c is known as
1) Capital Budget

2) Flexible Budget

3) Master Budget

4) None of these
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Ques # :65

When preparing a Production Budget, the quantity to be produced is equal to
1) Sales + Opening Stock + Closing Stock

2) Sales - Opening Stock + Closing Stock

3) Sales - Opening Stock - Closing Stock

4) Sales + Opening Stock - Closing Stock
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Ques # :66

X requires 2400 Actual labour hours to complete works, 20% is Idle time, wages Rate is Rs. 10 per hour.
Calculate Labour cost.

1) Rs. 19200
2) Rs. 24000



3) Rs. 28800
4) Rs. 30000

TFH P FT FATST F31 & FAT 2400 arEafaes 4137 €Y 1 T ¢ Fel Gl T 20% FRAGT G747 &
e A3 gT 10 F9AT U €T & aY 31 ATd AT

1) 19200%

2) 24000 &

3) 28800 %

4) 30000 &

Ques # :67

Which of the following is excluded from Cash Budget ?
1) Depreciation on Fixed Assets

2) Office Salaries

3) Commission Paid to Agent

4) Capital Cost of New Assets
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Ques # :68

Selling Price of X Product is Rs. 20 per unit, fixed cost Rs. 60,000. Contribution to sales ratio is 40%.
Calculate Break even Point in Units

1) 7000 Units
2) 7400 Units
3) 7500 Units
4) 8000 Units

UFH 3cUTE HT fahT Fed 20 T9AT i $H1$ & TATA AT 60,000 FUAT § | 3RACTT 79T FAshaT 7
40% & gAfa=dT fawg swrsal 7 qamsn

1) 7000 sergal

2) 7400 sH1AT

3) 7500 seRIEAT

4) 8000 zHIZAT

Ques # :69

If selling price of product is Rs. 9 per unit, variable cost Rs. 6 per unit, Fixed cost Rs. 54000 per year, when
Actual sales is Rs. 1,80,000. Calculate Margin of safety in units

1) 2000 units
2) 4000 units
3) 6000 units
4) 8000 Units

T 391G FT faHT Hed 9 T4 Iia $h18, TRacefier dmrd 6 T, 9fa $31$ FUTE dmre 54000 F9T
wfaad, afe areafas fashr 1,80,000 9T ¥ | @ e @AT swsa) & A w0
1) 2000 sersat



2) 4000 sHIAT
3) 6000 geRrSAT
4) 8000 SHTSIT

Ques # :70

Contribution Ratio is 30%, Fixed Cost Rs 75000 per month. Calculate Sales per month to get Rs. 15000 as
profit per month

1) Rs. 2,00,000
2) Rs. 3,00,000
3) Rs. 2,76,000
4) Rs. 2,50,000

3TRIETST 3T 30% , T ST 75000 ¥ e ATE 81 15000 TAT TFAATE AT FATA & ITTATE
T AT FA

1)2,00,000 %.

2) 3,00,000 %.

3) 2,76,000 .

4) 2,50,000 .

Ques # :71

If sales is Rs. 50,00,000, profit volume Ratio is 50% and Margin of safety is 40%. Calculate Profit.
1) Rs. 25,00,000
2) Rs. 20,00,000
3) Rs.10,00,000
4) None of these

I R F. 50,00,000 FTET-HATAT T 50% TUT FI&T HIAT 40% B AT AT 7T Y |
1) 25,00,000 .
2) 20,00,000 3.
3) 10,00,000 .

Y g1 A IS A

Ques # :72

An increase in selling price will effect
1) Increase in Break-even-point

2) Decrease in Break-even-point

3) Does not effect Break even Point

4) None of these
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Ques # :73

If fixed cost decreases while variable cost is remained unchanged new Break Even Point in relation to old
Break even point will be



1) Lower

2) Higher

3) No change

4) None of these
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Ques # :74

Which of the following is an irrelevant cost ?
1) Sunk cost

2) Opportunity cost

3) Replacement cost

4) All of these

ot & ¥ Flad anrg sy dera § -
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Ques # :75

When margin of safety is 28% Profit Volume Ratio is 60% Profit will be
1) 80%

2)33.33%

3) 66.67%

4)16.8%

I e G&TT HIAT 28% TYUT ATSH-ATAT ITUTT 60% &Y AT oA18T I
1) 80%

2) 33.33%

3) 66.67%

4) 16.8%

Ques # :76

An export order is generally accepted at -
1) Below Marginal cost

2) Below Fixed cost

3) Below total cost but above marginal cost
4) Below total cost but above fixed cost
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Ques # :77

A company has an idle plant capacity. It gets a bulk order which will not affect prices of company products in
the market. Such a bulk order may be accepted at a price which is more than its -

1) Fixed cost

2) Variable cost

3) Variable cost plus any opportunity cost of idle capacity
4) Total cost
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Ques # :78

Basic standard is established for
1) Short Period

2) Long Period

3) Short and long period both

4) Indefinite Period
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Ques # :79

The logical development of Budgetary control is
1) Marginal Costing

2) Standard Costing

3) Differential Costing

4) Absorption Costing
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Ques # :80

A system where manufacturer ascertain the cost after incurring expenses is known as
1) Standard costing

2) Marginal costing

3) Operating costing

4) Historical costing
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Ques # :81

The difference between standard output and Actual output Multiplied by Standard Variable overhead rate is
equal to

1) Variable overhead cost Variance

2) Variable overhead efficiency Variance
3) Variable overhead Budget Variance
4) Variable overhead Volume Variance

I YATT 3cTE TYT AT 3e91E F Hea Y FAT TRacderier 3ReTT T § 7o FT foam sie
dt 98 SET g
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Ques # :82

The Difference between Actual Fixed overhead and Budgeted Fixed,overhead is known as -
1) Fixed overhead cost Variance

2) Fixed overhead Expenditure Variance

3) Fixed overhead Volume Variance

4) Fixed overhead capacity Variance

arafas® T S0 a7 gore A fruifRa surft ew F IR A FRT AT |
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Ques # :83

In contract costing Payment of cash to the contractor is made on the basis of
1) Uncertified work

2) Certified work

3) Works in progress

4) Retension Money

ST AT Fafer 7 SFER FY Tohe T $[ITATT A ATUR X o ST &
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Ques # :84

Retension Money is equal to

1) Work certified less work uncertified

2) Contract Price Less work certified

3) Work certified Less payment received by contractor
4) Work certified plus cash Received

QY At TR R
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Ques # :85

Cost unit for Paper Industry is -
1) Per Rim

2) Per Paper

3) Per Kg

4) Per quintal

FTITST 3T Y Tfeh AT SHIS graiT
Dyufa e

2) uf shrarer

3) ufa fpea.

1) ufy e

Ques # :86

Total Inventory Cost is :-

1) Carrying Cost

2) Ordering Cost

3) Carrying Cost + Ordering Cost

4) Purchase Cost + Carrying Cost + Ordering Cost

Fel Thetl dATTA ¢ :-
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Ques # :87

When work certified is less than 25% of contract Price, Profit to be transderred to Profit & Loss Account
1) Nil

2) 100% of Notional Profit

3) 1/3 of Notional profit

4) 2/3 of Notional Profit

Ife TATTONT T SHT HET F 25% W FH 81 Al AT, ATH-gTTe Wi 7 gFanfeaie grem
D e
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FTeUTareh o3 T 100%
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4) SFreatere oITeT &7 2/3 HIT

Ques # :88

Which Accounting Standard relates with the accounting for costruction contract -
1) Accounting Standard 5
2) Accounting Standard 6
3) Accounting Standard 7
4) Accounting Standard 8

Aol 3! T AWTRT FFT A@ITFHT YA § AT & -
D) or@r Ar1es 5
2) Jr@r AT 6
3) r@r AeTH 7
4) Jr@r AT 8

Ques # :89

The technique of Profit Planning is :-
1) Marginal Costing

2) Standard Costing

3) Budgetary Control

4) None of these

1 AT A dhailah § ;-
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Ques # :90

Variable Cost is :-

1) Direct Cost

2) Direct Cost + Variable overheads
3) Absorption Cost

4) None of these
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Ques # 91

Contract Price Rs. 3,00,000 , Estimated Profit Rs. 60,000 Retention money 20% of certified work, works
certified 60% of contract Price. Calculate amount of Profit transfer to Profit & Loss a/c

1) Rs. 60,000
2) Rs. 28,800



3) Rs. 32,000
4) Rs. 48,000

ST H{eT 3,00,000 T AT ATST 60,000 , 3TARNET TATRY FATONT H1 FHT 20% , TATONT HTd, ST
Hed T 60% | ATSH-gIA T H gecAfeale g1 arelt sy hr iRy A

1) 60,000 %.

2) 28,800 .

3) 32,000 .

4) 48,000 %.

Ques # :92

When two or more than two products are produced which have equal value known as
1) Joint Product

2) By-Product

3) Co-Product

4) Scrap

ST &Y 3797aT &Y ¥ AT AT Al F IR T 3cuTET BT § At I 3G Y F§T AT &
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Ques # :93

Work-in -progress in contract costing is :-

1) Value of work certified + cost of work uncertificd

2) Cost of work certified + Cost of work uncertified

3) Value of work certified + Cost of work uncertified - Profit kept as reserve
4) None of these

&FT AT FAURoOT 7 AT FIE -
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Ques # :94

Which of the following does not use Process costing
1) Oil Refinery

2) Chemical works

3) Sugar works

4) Aircraft manufacturing

T & @ Pl afthar A@ihet T 397N 7+
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Ques # :95

Input 12000 Kg, Normal loss 10% of input. If output is 10920 Kg. What is abnormal Loss/Gain
1) Abnormal Gain 120 Kg

2) Abnormal Loss 120 Kg

3) Abnormal Gain 1080 Kg

4) Abnormal Loss 1080 Kg

AT 3Tl 12000 Kg, 3TelY It AT T 10% AT gife | Ife R wmvaft 10920 fr.amm. gy ar
AT §1fAA/ 18T AT A

D) sramareg aret 120 fralt e
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4) sraTATT gifey 1080 fvelt ame

Ques # :96

Wastage of Raw material during Process is 20% of Input. What quantity of Raw material is required per Kg
of output ?

1) 0.8 Kg
2)1.2Kg
3)1.25 Kg
4)1.33 Kg

Fefier 3 STelt I AT FT 20% WA g | 1 el AT AAR AT Wied Tl ¢ et At
Y JTaRAHT g3 |

1) 0.8 fretrams

2) 1.2 TreiramH

3) 1.25 frelrams

4) 1.33 freltams

Ques # :97

Cost unit for Water supply Industry is
1) Per 100 gallons

2) Per 1000 gallons

3) Per 10000 gallons

4) Per gallon

STl Yl 3T & T omere 78 gt
D gfa 100 o=

2) gfa 1000 =

3) ufd 10000 =T

1) gfy e

Ques # :98

The Expenses which are not related to operations process but related to time (period) are known as
1) Variable Expenses

2) Semi Variable Expenses

3) Semi Fixed Expenses



4) Fixed Expenses
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Ques # :99

The cost unit in operating costing is a
1) Simple Cost unit

2) Composite Cost unit

3) Simple or Composite Cost unit

4) None of these

TR aRd YR A AT S T §
D) aremor et gt
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Ques # :100

When the detail related with cost of production presented in the form of Account is known as -
1) Trading & Profit & Loss Account

2) Production Account

3) Cost sheet

4) Statement of cost

I 3G $Y AT FFaet AN FY AW & T F GEqd 61 I1am ¢ 38 Fe1 I ¢
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Ques # :101

Which activity is not the part of Financial Activity in Cash Flow Statement ?
1) Issue of Share

2) Buy back of share

3) Purchase of Buliding

4) Payment of dividend

Vs yarg Aavor & Rcdr it o slawr e adi |
1) 37eit &1 feTaeT

2) 3ixit 1 o1 @l

3) s1aeT T @l

4) qmaTrer T SpITATe

Ques # :102



Which one of the following item is a Non Cash transaction ?
1) Redemption of preference share

2) Redemption of Debentures

3) Conversion of Debentures into shares

4) Purchases of Asset

o w2l 3 & Pl w1 R e sagER
D) qatforem 37l @ e

2) sRoT g3t &hr 2T

3) o7 g5t &7 352t #F gRad=

1) gufed T

Ques # :103

Which activity is an investment activity in cash flow statement from the following :-
1) Redemption of Debentures

2) Dividend Paid

3) Interest Paid

4) Purchase of Plant & Machinery

U3 ya1g fAavor F iaard et & @ Fiad) afaatr frar g -
1) sorgat & 2ivereT

2) STEIRT T ST

3) saTet T

4) cofie gaur 7N S @lie

Ques # :104

Cash flow statement is presented to state

1) Opening balance of cash or cash Equivalents.

2) Sources and application of Cash and Cash Equivalents
3) Sources and application of working capital

4) All of these

Vs yarg faavor aqmar g :-

D) e T e Jour &1 IR A
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4) g & i

Ques # :105

The Methods of cash flow statement described in Revised As 3
1) Direct Method

2) Indirect Method

3) Direct and Indirect Method

4) None of these

AT AGTheT ATeT 3 Uehg WaTe [FaTor goqd 3= 1 A g |
D) geat fafer

2) arcgeT fafer
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Ques # :106

Isssue of Equity shares for consideration of Purchase of land is
1) Cash out flow

2) Cash inflow

3) Cash Inflow & Outflow both

4) Neither Cash Inflow nor Cash outflow

A Y FT T F IfABe H FHAT 3N FT fAtwaT Fgemdan
D) Qg 1 92T yaTe

2) A3 FT HeddTE

3) QerE T SR TAT edaTg

) 7 QY AFE FT Y YaTE 7 &) Hedde

Ques # :107

Ram Ltd has a current Ratio 4.5:1 and Quick Ratio 3:1. If its inventory is Rs. 72000. Calculate Current
Liabilities

1) Rs. 2,16,000

2) Rs. 73000

3) Rs. 48,000
4) Rs. 84,000

A T T, Y A1 AT 4.5:1 TUT AR IIT 3:1 81 T Tohotl 31 AT 72,000 T &1 @Y <1,
SIAea AT &

1)2.16,000 %.

2) 73000 .

3) 48,000 .

4) 84,000 %.

Ques # :108

A company has share holder's equity of Rs. 2,00,000/- Total Assets are 60% of share holder's equity assets,
turn over Ratio 4 times, Inventory Turnover is 6 times. Calculate amount of Inventory.

1) Rs. 4,80,000
2) Rs. 8,00,000
3) Rs. 80,000

4) Rs. 6,00,000

TS FHFTaAT Y FAUTRAT T FHAAT F. 2,00,000/- § | F¥ FFafoaar eyt H TH7ATF60% & |
HUTE T 4 IO TUT Thetl T 6 I[OT ¢ | Fohetr Y TRY AT FA

1) 4,80,000 %.

2) 8,00,000 .

3) 80,000 .

4) 6,00,000 5.

Ques # :109

Calculate opening Debtor - Total sales Rs. 3,00,000, cash sales 60% , closing Debtors Rs. 25,000 and average



collection period is 2 months
1) Rs. 25,000
2) Rs. 20,000
3) Rs. 15,000
4) Rs. 40,000

YIRS AR AT F - STdiF Fel AHT T. 3,00.000, 7 a7 60% , 3ifaa e 25,000 , FUT
A HaE A 2 AR R |

1) 25,000 %.

2) 20,000 .

3) 15,000 .

4) 40,000 %.

Ques # :110

Capital Rs. 15,00,000 , Capital turn over 4 times and profit on sales is 10%. Calculate Return on Capital ?
1) 20%
2) 30%
3) 40%
4) 25%

it 15,00,000, Gft AT T 4 T[0T TUT FAHT T AT 10% ¢ | TS IR AT AT F0 2
1) 20%
2) 30%
3) 40%
4) 25%

Ques # :111

Financial Structure means :-

1) Equity share capital + Preference Share Capital + Long term Loan

2) Equity share capital + Preference Share Capital + Long term Loan + Retained Earnings

3) Equity share Capital + Preference share capital + Long term Loan + Retained Earnings + Current liabilities
4) None of these

toipkroni ok ok

1) Forar 37er gof + qatfesR 3ier goit + Srerellst #oT

2) AT 3720 YT + YATRRR 37T G + Erefeprelst o7 + Ffaenia 3rotet
3)Wﬁ3rq§ﬁ+q@ﬁwmrﬁ§ﬁ+éﬁaﬂ$ﬁﬁa{w+mﬁﬁ+maﬁﬁ
%) 5o O 1S e

Ques # :112

Average stock 73000, Debtors 45000, Stock turn over 6 times, Gross profit Margin 20% of sales and credit
sales 40% of Total sales. Calculate Average collection period.

1) 146 days
2) 75 days
3) 73 days
4) 90 days

3T T 73,000, SACK 45,000 , Fhetl TS T 6 VT, Wehel ST AT fIshY HT 20% TUT
Fel FAHT FT 40% 34N 7 ¢ | 3itwa o ey s w1

D 146 =
2)



75 &t
3) 73 Rt
D o0 &

Ques # :113

The monthly cash requirements of a company are Rs. 60000; fixed cost per transaction Rs. 10 and interest
rate on marketable securities is 6% p.a. The optimum cash balance will be

1) Rs. 15,000
2) Rs. 20,000
3) Rs. 25,000
4) Rs. 30,000

e Uk FAT 1 ATRAF Nh3 HTTRIFHATT 60,000 T, Ui sTagR AT AT 10 F. AT oy
Ay gt a3 sarer X 6 wforerd af¥e &Y, Y arsTweras Vs A ghm -

1) 15,000 %.

2) 20,000 .

3) 25,000 .

4) 30,000 %.

Ques # :114

Difference in capital Gearing Ratio and debts to Equity ratio is due to
1) Preference share capital

2) Equity share capital

3) Prefernce share capital + Equity share capital

4) None of these

it GFecAaTOT 3eTHTa YT FOT HAAT AU 31 A B HIT &
D) qatforem 3fer geit

2) FaE 72T goft

3) qaTfISR 372 Goft + FHAT 372r it

Y g & I e

Ques # :115

Acid Test Ratio means
1) Liquidity

2) Profitability

3) Efficiency

4) Long term Solvency

3rFer GRETOT 39Tl ATIAT &
D) aerar

2) ST

3) garerar

4) ErdemTeieT TereT &THaT

Ques # :116

Capital turn over Ratio is 12 and net profit Ratio is 30%. The overall profitiability is
1) 40%



2) 3.6%
3) 2.5%
4) 18%

I Ylt T AT 12 TUT Y ATH AT 30% ¢ | HHA ATHEGTIHAT AT AT FU
1) 40%
2) 3.6%
3) 2.5%
4) 18%

Ques # :117

On which factor Du-point control Chart depends :-
1) Profit

2) Investment

3) Profit and Investment

4) Sales

g Wse fag=or AT fFa asr wiask @ -
D) et

2) fafaraer

3) e wa fafareT

) g

Ques # :118

Net Profit for year ending 31-3-2016 is Rs. 3,00,000. This figure of the N.P. Has been arrived after taking into
following items:- Depreciation on Fixed Assets Rs. 65,000, Preliminary Expenses written off Rs. 7,000 and
Profit on sale of long term Investments Rs. 5,000. Fund from operation will be :-

1) Rs. 3,77,000
2) Rs. 4,33,000
3) Rs. 4,38,000
4) Rs. 3,67,000

31AT 2016 FY FATCT T HT Y AT 3,00,000 %. T | AG W1 F forer 7 eanfAer § :- Turf weafaat
9T §T 65000, YRF37e o 3rqfaf@d 7000 T. T4T Erefwreler fafaaleft wY S & @137 5000 . |
mma’m :-

1)3,77,000 %.

2) 433,000 .

3) 4,38,000 %.

4) 3,67,000 .

Ques # :119

The Source of fund is :-

1) Receipt of Bonus shares from subsidiary company

2) Receipt of licence to Import goods

3) Receipt of Dividend on Investment in shares of subsidiary company
4) None of these

EFT‘I’WW%:-
D) gerae segelt @ g 3t frofea

2) HTel AT A & foIT S 8=d hr wifea
3)



T hagaiT o 37T H AN ux amaarer FHr wfica
4) goTor q IS A&

Ques # :120

There is a flow in funds when there is a transaction between
1) Non current a/c with current a/c

2) Current a/c with current a/c

3) Non current account with Non current a/c

4) All of these

Y YATE g1dT § T e & AT sqagrR T g |
DR arq @ 1 o @ &

2) el @I &7 ATe @ 3

3) IR Ao @ 1 IR T WA

1) g a e

Ques # :121

The application of fund is

1) Acceptance of supplier's Billls of exchange
2) Deposit of cash into bank

3) Endorsement of B/R in favour of creditors.
4) None of these

HIY HT TR :-

D) fcferat & fafamer s o3 Efepfa &
2) & # Tohe; AT Tl

3) JeTeRt & geT & gred fauEt ST ST e
) s A S TG

Ques # :122

Received a Dividend on investment Rs. 50,000 out of which Rs. 30,000 is related to preacquisition profit.
Sources of fund will be

1) Rs. 30,000
2) Rs. 50,000
3) Rs. 20,000
4) None of these

faferaieT 9% 50,000 T T wmaTTer Ao AT o 7 @ 30,000 FUAT AT F G @ F @A
| Y T FAIT &Y

1) 30,000 %.

2) 50,000 .

3) 20,000 .

) g @ g

Ques # :123

In current year, current Liabilities has decreased in comparison to Last year then working capital will :-
1) Decrease
2) Increase



3) Constant
4) None of these

et o o Tt o ey o o ey et oF et @Y ¥ it sy abefier ot o -
l)mm

2)3(:@31311

3) Reer gt

Y goTar & 1S AET

Ques # :124

In which year, The Institute of Chartered Accountants of India issued Revised Accounting Standard 3
1) June 1981

2) March 1997

3) June 1998

4) March 2000

SEITYE 3 TTES UHIFeteed T SOSAT S AW AT 3 FT HAU Fa A frar
D 37 1981
2) AT 1997
3) ST 1998
4) AT 2000

Ques # :125

From the following information P/V ratio will be

Year 2014 Year 2015
Sales (Rs) 4 72,500 5, 25000
Total cost (Rs) 4 20,000 4 51,000
1) 20%
2) 25%
3) 60%
4) 40%
T T =TT & S A 31 B4 -

a9 2014 g 2015

IGER D] 4,72,500 5, 25,000
el SEIA(®.) 4, 20,000 4, 51,500
1) 20%
2) 25%
3) 60%
4) 40%

Ques # :126

Cash budget is prepared by -

1) Receipts and Payment Method
2) Adjusted Profit and Loss Method
3) Projected Balance Sheet method



4) All of these

UFHS olc ST ATAT S :-

D) oifeq wa seramet v ganr
2) AT TSI T g1feY Ui earT
3) grnfra frgr g ganT

1) g A el

Ques # :127

The method of cost control under which the control of centre point will be responsible person for cost, not cost
1) Social Accounting

2) Responsibility Accounting

3) Cost Accounting

4) Financial Accounting

maTe forar=ror i 98 fafer forwet fovasor #1 & &g amera o1 gl amera & fAw saverh safFa grar e

D TTAT oI orETeheT
2) SeaaIfied s
3) Ao @ik

4) e orgishet

Ques # :128

The Variance of Standard Costing remains always Adverse in Business called as :-
1) Material Yield Variance

2) Idle Time Variance

3) Labour Yield Variance

4) None of these

YATY AT 1 T Rreor S 9 caaar A yfaga faard -
D) et 3cdrest faeror

2) g GHY foeror

3) s 3cures fa=roT

Y g A S A&

Ques # :129

Debt Service Ratio is :

1) EBIT/Interest Payable

2) EAT/ Interest Payable

3) Net profit/ Interest Payable
4) Gross Profit/ Interest Payable

EEUTﬁ'aT.BTﬂ":I'H%:-

D) &2 7 sa1er & 43 et/ & sare
2) & & d1C T8/ & ST

3) € TS/ o ST

4) el o1/ & ST




Ques # :130

Trading on Thick Equity means :-
1) Equity and Debts are equal

2) Equity is Less than Debts

3) Equity is more than Debts

4) None of these

3T HAT X SATIR § 372 :-
D) gaar gor Horse ¥

2) GAAT RUT A HAE

3) gATT HOUTH IVH

4) 3o | IS TET

Ques # :131

Earnings per share of X Ltd. Are Rs. 9 and the market price of a share of face value of Rs. 100 is Rs. 150.
Cost of Equity share capital will be

1) 9%

2) 15%

3) 6%

4) None of these

vy for. i vy 37er 3mr 9 5. §, 4T 9F 3727 TR A 150 F § T T 7eT 100 T § | G 372

ot & araTer e -
1) 9%
2) 15%
3) 6%

D g A L

Ques # :132

The components of Gross Period of operating cycle is
1) Raw Material Storage period

2) Finished Stock Storage Period

3) Conversion Period (Semi finished goods)

4) All of these

qRETes 9% T G 39 & yaqT ¥
1) sre=it @revelY 1 syusRoT 3@t

2) &UR AT &Y HUSROT 3afy

3) aftad= 3rafer (3ref e #ren)

4) gy & Ty

Ques # :133

The cost of retained earnings will be :- Dividend per share Rs. 9, Personal Income Tax 25%, Personal Capital
Gain tax rate 10%. Market Price per share Rs. 100

1) 10%
2) 25%
3) 35%
4) 7.5%

yferenRe srstal St amerer et :- amerer wfey 3rer 9 %, SATFAT 3T FX T 25% SATFAT ol aAmer



FT & 10%, AR Hed Tier 372r 100 %.
1) 10%
2) 25%
3) 35%
4) 7.5%

Ques # :134

"The Cost of Capital is the minimum required rate of earnings or the cut off rate for capital expenditure."
Definition given by

1) Milton H. Spencer

2) M J GORDON

3) Soloman Ezra

4) Hunt, William and Donaldson

it AT 3TATRYE 3rotel T FYAH & YT Yol 7 F s o B |
1) firece v 01

2) uA. . AET

3) reltHeT SR

4) &<, [IIH gur STesgT

Ques # :135

Factor does not Influence the size of working capital
1) Business fluctuations

2) Dividend Policy

3) Availability of Labour

4) Availability of Raw Material

VT TCF SN FRAS Golt F TSR HI T 71 @
D) sqqarar 1 3Taraa+

2) qmerier A

3) 3 Y ITTSEIAT

4) st GrealY Y STcTsrar

Ques # :136

Calculate working capital when operating period is 44 days, operating cost is Rs. 10,50,000, minimum cash
required Rs. 50,000, No. Of days 365 in a year

1)1,76,575
2) 1,56,757
3 2,00,000
4)1,76,755

el Oeft AT F srafes aR=reret srafer 44 e, aR=mere arera &. 10,50,000 FLTaH 7FE .
50,000, T F feT 365 Y |

1) 1,76,575

2) 1,56,757

3) 2,00,000

4) 1,76,755

Ques # :137

Calculate working capital when current Assets Rs. 40,00,000 Current Liabilities Rs. 13,00,000 Provision for
contingency is 10% of Total working Capital



1) Rs. 29,70,000
2) Rs. 30,00,000
3) Rs. 44,00,000
4) Rs. 14,30,000

Frefter oft AT F S =T FfeeT 40 AT T. TUT ATl S1AT 13 G F. GFHTEA130 & faw
ITASTeT Ferhraefier Gaft $110% & at

1) 29,70,000 T

2) 30,00,000 T

3) 44,00,000 T

4) 14,30,000 TT

Ques # :138

X Ltd earns Rs 5 per share is capitalised at the rate of 10% and has a rate of Return on Investment of 18%.
According to Walter's formula. What should be price for share at 25%. Dividend Pay out Ratio ?

1) Rs. 25
2) Rs. 80
3) Rs. 125
4) Rs. 90

v for. S 5 Tr ufer 3rer HfSa FA § 10% MR A GhiFa g | RfFrHrocaa 8% @
aTeTe {F HTHR 25% SATHTL ATl TR T 307 Ao 41 g1 |

Dass,

2)80°%.

3 125%.

Y90,

Ques # :139

Vivek Ltd has 10% actual capitalisation rate, a dividend pay out of 50% , and declares a dividend of Rs. 2 per
share. The normal capitalisation rate in the Industry is 12 %. Calculate value of equity share by Gardon
Model.

1)58.28
2) 85.28
3) 28.58
4) None of these

faraes for. i areafas Gol FI0T T 10% , TSI ST 50% Wfey 37er 2 . wmerier frawor #l 7 |
39 IS H AT Tl FI0T & 12% § TS AT T STAIT I §C HAT 3 T 7T Al

T |

1) 58.28
2) 85.28
3) 28.58

Y g A IS A

Ques # :140

Current Market Price of Rs. 10 each Equity share is Rs. 15, Dividend per share is Rs. 1.5. if Growth rate is
5% per year. Calculate cost of Equity share capital.

1) 10%
2) 22%
3) 15%
4) 17%



10 T & ifret HeT & WHAT 32T Y ITe] TR {e T 15 F. ¢ i sreramemer 1.5 58 | afy wferad

STTer i 8T 5% &Y A WHAT 3rer it Y ST AT F
1) 10%
2) 22%
3) 15%
4) 17%

Ques # :141

The Cost under which to accept the specific Investing project, forgo the alternative options, called as :-
1) Explicit Cost

2) Future Cost

3) Historical Cost

4) Opportunity Cost

e fafdree faforaier R &1 T e #3a & faw 813 71w dfous RFeal i arera Fgard &

1) wgse omra

2) o1 ST

3) AT o
4) 3raEr ST

Ques # :142

Price Earning Ratio is useful for

1) Short term creditors

2) Long term creditors

3) Share holders

4) Both Short term and Long term creditors

HET TSI AT 3T §

D) sreqertelisT Hoerar & faw

2) ErefenTalieT HUTEIAT & forw

3) 3rereniat & forw

) 3Tt T ErEehTellel RUTETAT aleil & forT

Ques # :143

Stock Turn over Ratio is :-

1) Sales/ Closing Stock

2) Sales/ Average Stock

3) Cost of goods sold/ Average Stock
4) Cost of goods sold/ Closing Stock

THY T T ¢ :-
D fasray sifas wefaai
2) fasra) 3ga wefaar
3) S 910 AT Y ST/ 3N A
4) S 91T Aol Y SArere 3ifaH whawr




Ques # :144

"Equity capital is cost free' Is this statement true ?
1) True

2) False

3) Partly True and Partly False

4) None of these

AT YT AT FFd ¢ | FAT I FYA T ¢ 2
D) g

2) srcy

3) 318 e vaA 37 3T

Y gerat @ g AE

Ques # :145

Overall Solvency Ratio is :-
1) Total Liabilities = Total Assets
2) Total Outside liabilities = Total Assets

3) Total Internal liabilities = Total Assets
4) None of these

A M &THAT AT ¢ :-

1) el erffica = el TEafaar

2) @l §IEd gid + &e FEafaal

3) Fel 3Medien giidcd = e Geafcar
) g A S TG

Ques # :146

Management Accounting involves

1) Preparation of Financial Statements
2) Analysis and interpretation of data
3) Recording of transactions

4) None of these

mmﬁmﬁa%:-
1) facirr faa<or a5t & AT

2) 3renet T faRevoT 9 AT
3) cgaeRt & JTAeET

Y T A S A&

Ques # :147

When evaluating capital investment proposals. Time value of Money is used in the Technique.
1) Internal Rate of Return

2) Average Rate of Return

3) Pay back period

4) None of these

it fafaraer gearal & FaT F THT Hed HT TANT FI1 Tel) dHadlF ¢
D streafte gearr a3
2)




TSI &
3) qo. 37T Jrafer
) g & Ig A

Ques # :148

Profitability Index is the ratio of

1) Initial Investment to present value of cash inflow
2) Present value of cash inflow to Initial Investment
3) Average Income to Initial Investment

4) None of these

ATHETIH AT AT AT §

D) gzt fafaier 1 (s 3iaviare & ada 7eg 4
2) Qehg =dydTE & deaHT Hod &l IRTFH fafaaer @
3) 3rad 3 1 IRTEN e @

4) 3o @ IS AET

Ques # :149

Cash Inflow After Tax means

1) Cash Revenue - Cash Expenses

2) Total Revenue - Total Expenses

3) Cash Inflow before Tax - Expenses
4) Operating Profit + Depreciation - Tax

T TYT AhsS YT T AT & -
D) Sepe 31731 - Fiehe @<t

2) et 3T - el W

3) X A Id Nehs 37avraTe - T
4) R=TeleT oITH + &1 -

Ques # :150

What is the basic assumption of dividend yield plus growth method of cost of capital
1) Constant growth of firm

2) Costant dividend pay out

3) Both Constant growth of firm and Constant dividend pay out

4) None of these

it Y AT AT FI & Forw amerrer wrfter arem amerrer 7 iy RAftr iy smumesq@ ooy
D) ot 1 oremmar afy

2) QST T STTAR 3TcATeT

3) T3t HT TR I T FATHILA T FAR T Gt

4 goet & IS AET





